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cxl AB | mA 1 5 ILAAAR | SR | 25 B
1| 5/1 |wrmias | xngr SR ( 48 43) 3,877| A 3,877

2 | 5/15 | wmpte |H 2 (45 4y) 1,017] A 4,894

3 | 5/19 | s |BLINGH Y (IKIEES) 4,602 A 9,496

5/29 %z%%gg (56 B2) 280, 000 270, 504

4 | 5/29 |wrmiat |E kAT EEEGTR( 54 47) 3,877| 266,627

5 | 6/1 | #=mr |EREN( 5HERD) 9,298 257,329

6 | 6/1 | =me |4LHHt 12,960 244, 369

7| 6/3 | W |6 FEE( 5HESNY, 2697) 22,296| 222,073

8 | 6/5 | Atz [#BH( 5H %) 72,000 150,073

9 | 6/15 | wEme [H 2 5H4) 1,043| 149,030

10 | 6/16 | wesmi# |EX6 Hy ( KIEES) 4,567| 144,463
11| 6/290 | #wm |tron—ry oo ae Mt 722 1) 16,822| 127,641
12 | 6/30 | #mz |EEA( 6HFEERD) 5,293| 122,348
13 7/1 | #m# [SCEAR 778 121,570
14 | 7/2 |ermias | & aBEEESOE (64 59) 3,877| 117,693
15| 7/3 | iz [#KEHC6 A% 80,000| 37,693
16| 7/8 | #@mi# [TH 2% E( 6HrESXMN9, 4556%) 22,389 15,304
17| 7/13 | #m |BEE 140 15, 164
18 | 7/15 | #mm# |H A ( 645 1,042 14,122
19 | 7/15 | #mm# |BLKATA S (REEN) 5,147 8,975
7/16 %%%gg( 7 ~9 A%) 420, 000 428, 975

20 | 7/22 |w@eres [HBPL K= B —1 4,320| 424,655
ol | 7/23 | #mn |Eaekt 250| 424, 405
221 7271 | wBH AT H—LY T (TAIIL) 6,135 418,270
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cxl AB | mA 1 5 ILAAAR | SR | 25 B
23 [ 7/31 | #wmw |[EFACTHFERD) 5,079 413,191
24 | 8/5 | amm [#kEC 7 A4y 76,000| 337,191
25 | 8/6 | wmm# |8HAFE( THESKNS, 975%) 21,149 316, 042
26 | 8/15 | =mmie [H AR ( TASY) 1,041 315,001
27 | 8/17 | #mwi# |FEXISH» (KEE) 7,455 307, 546
28| 8/27 | BB (S 7 D=V v ( TAZ L) 22,967| 284,579
29 | 8/31 | wmm [FEIE( 8HFRS) 5,274 279,305
30| 9/4 | wmEE [9A FE( 8HESNY, 82THE) 22,575| 256, 730
31| 9/4 | ez [k 8H ) 68,000| 188, 730
32 | 9/15 | wmEe (B A 8H %) 991 187,739
33 | 9/15 | #mpi [FEXIRIH o ((KEE) 6,704 181,035
34| 9/16 | wmw [FHAELR 1,080 179,955
35 9/28 | wEH (A2 H—FV v (TAZL) 3,219 176,736
36 | 9/29 | wHpiw [10A 5FEE( 9H 3 ERNT, 6577) 21,490| 155,246
37 | 9/30 |w@srems|= v —1% 108 155, 138
38 | 9/30 | #wmw |EIEIC( 9H GRS 5,042| 150,096
39| 10/1 | #mz [wo v F—7 121] 149,975
40 | 10/3 | wmm [&iffk 12,960 137,015
41 | 10/5 |@eeme|= & —1% 240| 136,775
42 | 10/5 | asem |FEREC 9H 4Y) 76,000 60,775
43 | 10/15 | smmim |5 2% 9H4)) 990| 59,785
44 1 10/16 | F#ie [FBEXANI0H 4 ( KREET) 5,617| 54,168

10/16 %z%%g/g( L0 ~12 A2 420, 000 474, 168
45 [ 10727 wmw (1o m—rY v v HEH( TR L) 51,770| 422,398
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cxl AB | mA 1 5 ILAAAR | SR | 25 B
46 | 11/2 | #ma [FEIHR( 10HFERD) 5,202| 417,196
47| 11/4 | #Br [GIFR 320 416,876
48 | 11/4 | #mer#e |11 H 05 & ( 10 H 73 EXM6, 4175) 20, 870| 396, 006
49 | 11/5 | At |#5EHC 10 4)) 80, 000| 316, 006
50 | 11/12 | s |JAHA 864 315,142
51 | 11/16 | #mee (24 ( 105 43) 1,012 314,130
52 | 11/17 | =B (e o T —F1K 108| 314,022
53 | 11/17 | #mprg |BEUNILA 4 ((IKJEES) 4,372 309, 650
54 | 11727 #8#% |27 h—FVU v EHE( TAZNL) 2,869 306, 781
55 | 11/30| wm# [FEEH( 11HFERD) 5,131 301,650
56 | 12/4 | A [FRFC 11 4)) 75,600| 226, 050
57| 12/7 | wmmite [12H0FE ( 11H 55 E<R, 1765) 22,250| 203, 800
58 | 12/15 | #mpik |ERIN12H 43 ( (KEES) 4,270 199, 530
59 | 12/15 | #meme (H A4 ( 11H4y) 1,082 198, 448
60 | 12/18 | #m#m |STEA 324 198,124
61 | 12/25 | #mpite [1H 0% E (121 55EKN6, 01475) 20,669| 177,455
62 | 12/28| H=u#& Ao rh—FV oV 2F 49 70D TAZ L) 5,797 171, 658
63| 1/4 | #mn [FEIHE( 12HGEERD) 4,851 166,807
64| 1/5 | amm [#a8HC 12 A%) 88,000 178,807
65| 1/5 | Atz |#&RF( 12 A4y 47,200 31,607
66 | 1/7 | #B# |2v—k0T N B 100 %) 1,108| 30,499
67 | 1/15 | #mmre | H AR 12 H4Y) 1,134 29,365

1/15 ‘&%%gg( L ~3 A2) 420, 000 449, 365
68 | 1/19 | #mpin |BXUNLA » (KEES) 5,081| 444,284
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cxl AB | mA 1 5 ILAAAR | SR | 25 B
69 | 1/27 | #8% (1> 27 H—bU v ( TAIN) 9,949 434,335
70| 2/1 | wmm [FEEECC LAFERD) 5,071 429,264
1 2/3 | wmE# 2H0xEE( 1A 5ERN6, 57215) 20,948 408, 316
72| 2/5 | Ak [FABHC 1A 92,400 315,916
73 2/5 | Ak [FEBHC 1A S 36,400 279,516
74 | 2/15 | #mEm (AR 1HS) 1,116] 278,400
75 | 2/16 | #EmEE |[ERA2A S (KEED) 5,953 272,447
76 | 2/16 | ### |2 —Hp v b B H27. 11~H28. 1H %)) 4,516 267,931
T 2729 | w8 (A7 =Ry (TATL) 1,941 265,990
78| 2/29 | wEwm [FEEE( 2AFERD) 4,766| 261,224
79| 3/8 | Akt [#ABHC 2H4) 87,600 173,624
80 | 3/8 | wmmit [3H pFE( 2H3ESNRS, 1075) 20,715 152,909
81 | 3/15 | wmmiz (W24 ( 21 4) 1,285| 151,624
82 | 3/16 | #mmt [FBRM3H L (IKEET) 5,993 145,631
83| 3/30 | wmm# [4A 5FE( 3H»ESNS, 758%) 21,041 124,590
84 | 3/31 | F## |2t —fY —AB( H27.11~H28.3) 14,580 110,010
85 | 3/31 |m#mrses |fik#e ( H127.5. 1~1128.3.31) 97,063 12,947
86 | 3/31 | #m# |HEHFEAHN( H27.5~H28. 2 75K5)) 40, 775| A\ 27,828

= &t 1, 540, 0001, 567, 828| A 27, 828

1REHARE 20HEE SLHWLRE 4EFREFTHE 55
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